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B.Com. (Part-I[)

Term End Examination, zOLg-ZO
Paper- II

Management Accounting
Time:- Three Hours ] [Maximum Marks:75
qtd ' H'fr qy-rT d uoq Afuq I elfi qa-{T d eio sqn d r

Note: Answer all questions. All euestion carry equal marks.

1.

E.F.d /unit-I
"qE-€dq ffi-q. +srf,T q++ui oT q-s il{6 y-{gfif,-{ut B u-rfu eilq @}
+frqT P q-wq fr oQr vn B-qq fi tto fuqr.uidT t qErqo * r;, #
oQt=r of qrcql dftq I

"Management Accounting is the Presentation of accounting Information is such a
way as to assist management in the creation of policy and in the day to day
operation of an undertaking" elucidate briefly this statement.

3lelfl / OR

2018-1e o-r Hrr{r fu. o-r 6q-ffi fud{"t ftq g :_
The following is the P & L Statement of sapana Ltd. for the year 20lg-19 :-
H.DE fu*,t (Cross Sales) 30,30,000
q[TS (Return)

T€ fu*t (Net Sales)

M or.ro (Cost of Sales)

E-qff,{ qq (Operating Cost)

qls flnterest)
o-{ t Xd eil-q fincome before Tax)
O-t d fuq qfqEIH (provision for tax)

U€ efq (Gross Sales)

30,000

30,00,000

1900,000

r200000

780000

420000

20000

400000

200000

200000
fr G q++ai t ftq qfi Tq-n +tfus :-
From the given information calculate the following:_
(l) e,Dd dfq ei-gqkl (Gross prof,rt Ratio)
(2) fiqrm{ * .agva (Operating profit Ratio)
(3) T€ oru ergql6 (Net Profit Ratio)



2.

Eo.d /Unir-rr

v6 q{ d ftq drq Erfr qri t Hr4rf,{ t otq of .rqil dfr\ -
calculate 'funds from operation' from the following profit & loss of a firm -

Profit & Loss Account

To..

ttrq (sataries)

4-fiPl{ (commission)

fu-{-fl qq elrq oq
(Rent, Rate and Tax)
ENI (Depreciation)

ekq m"il d tdq HcIEI=r
(Prov_ision for doubtful Debts)
Grro-fuo t{flr d fuq
qFxEI-q

(Provision for contingent
liability)
frftftr ftn-q t 6rfr
(Loss on sale of Investment)
m{ d fuq qrqnq
(Provision for Tax)
*Tr qrT q{ qa
(Discount on debentures)

T€ Anr (Net Profit)

125000

50000

25000

50000

5000

4000

6000

1 0000

1 0ooo

340000

By..

WDE dI+I (Gross profit)

Taq$ftrmqtonr
(Profit on sale of building)
o-{ fr q,!q-S

(Re$nd of Tax)
dTxII$ (Dividend)

600000

5000

10000

10000

3Terfl / oR

f< w qrqreT of nqE t q-{q xtr6 frwqqilt -
Prepare a cash flow statement with the given data -
ml4tTQq fr ao-< (Cash from operation)
RT[fr Tffi qfi Tm-E fu*,t (sute of fixed Assets cash)
q-rT( q glgl qlfr $( (ssue of shares for Cash)

afq tffi t Etr (Increase in current Assets)

4l-q EIfuf, lf gE (Increase in current liabilities)
afq T{nl.ft fr O.rft (decrease in current Assets)
qfq Elfuf, it O-ft (decrease in current tiabilities)
Xul qfq$ (Repayment of loan taken)

GTM SE {rRr qR t, sfuf, yft{o t sra rro-i t I

2s000

380000

2s0000

s0000

30000

3s00q

20000

200000

You may assume the balancing amount if any under the suitable head.

Particulars s Particulars s

625000 625000



{{.r{ /Unit-IIr

3. fiqrfl drrtfl q-qFr qqr t? mqrf, qqFr dar Gm{ilqq dr{rfl q-€.ft fr erqq
otfuq r

What is marginal costing? Distinguish between marginal costing and absorption
costing.

sleml / OR

ftor ga-+ d entm qr erkocrq dTq qTw ovi d fuq vffq-frqq o-r
ftErfwr frtfuq -
On the basis of following informations, determine the product-mix yielding
maximum profit -
VATIffI (Product)

srTfr sfr {nr$
(Material per unit)

oPa
l0kg 6kg l5kg

6 hrs l0 hrs 8 hrs

qqftq (sh Tdr {nrfl
Machine Hours per unit
frn-q Tn Ftu sor$)
(selling price per unit) S 250 S 200 S 400
erEmdq Hxqlfud silr+r
Maximum Possible Production 1500 unit 1000 unit 750 unit
vilrffT A fuq GTkfidq 18400 qqftq qot s s qfr qrt w Bqtrer t oen
22soo fu vr. Hrrfr 20 s. sfr fuil of qq t srq of qr vrfi-fr t I

Machine hours for production are available up to 18400 maximum at 5l- per hours
and22500 kg of row materials @201- per kg can be obtained.

{.F,r{ /unit-rv

4. {qFer t snq rqr srsfr t? qqr&r d Bt{q rqr t? gtr $l-{$rfi qsrc
qq-rfr d enqq{o rf, Tqr B?

What do you understand by Budgeting? What is the pu{pose of budgeting? What
are the essentials of an effective budgeting system?

3lsrfl / oR

Tfr ffi!ft o-qft *1 ffio vilrcT errrcTr 10,000 {sr{d S r erqfu d fuq
6,000 WIWT o-r qq q-qe ffifif, 6 -



A manufacturing company has the production capacity of 10,000 units p.a. The
expense budget for 6,000 units for the period are as follows:

HrTfr (Materials)

Per Unit
Rs.

50

10

10

5

5

-go-

20

qs$ (aoo/o qffifu) (Wages (60%variable)
frqfufr uo (ooro qM+q)
(Manufacturing Expenses (60%variable)

ryB- qq (wTrfr) (Administration Expenses (fixed)
fr#q G fugqur qq (+o% qffiftq)
(Selling and Distribution Expenses (40%variable)

ed drlrf, (Total Cost)

dl'+I (profit)

5.

fumq {c,q (Selling price) Rs. 100
7o%wrt looo/o ord-wq oi e-{Rrd ovi gq ilq-fl{ eure +qn#qqr T6
GrytT of qrft t fu 60% o-rd-w ir6 qfu{o.l{ M Xe ft{rr {tq_r, Eqdqrq eo% ord-wr w s% qfr ofi or 3i-gqrq t gox d erE sFf6 5% fr
Etr d fuq zlu'ot ofr o.r Gn-gqn fuq' qror t r

Prepare a flexible budget showing 70Yo and too% levels of activity. It is expected
that the per unit selling price will remain constant upto 60%o activitv, thereafter a

5o/o teduction is expected upto 90%o activity level. Above gayo a zluoreduction in
original price is expected for every 5o/o inqease in volume.

{tD.H /unit-v

y "-oo d n+rT fr rgffi Hrrfi o.r u-qrq qq qmfuo. ft+rq ftq norq:t,-
The standard cost and actual mix of materials used in the manufacturing of aproduct are a under -
sFrfr
Materials
3r (A)

q(B)

T{I-{fr drrrfl ff{rrr
Htq.fr Fil-ra t frflq
Calculate material cost
material cost.

{qrq
Standard

qrffifufi
Actual

60 dq qfr eq s s. 80 H sfr g{ + s.
60 Ton @ 5l- per Ton g0 Ton @ 4/iper Ton
40 u{qfreT 10 E. 70 BTqfrq{a s.

_ 40 Ton @ l0/- per Ton 70 Ton @ S/_per Ton
ht rruril a1fuq oer qr*fufi- qlqfi 

"r.a 
ot trrTrq

tutuq I

variance and reconcile Actual material cost with standard



3Terfl / oR

ftq qyrrcii q M o1 Tqil qtfuq -
Calculate the variances in the following cases -

FIIq (Standard) qNilfuCr (Actuat)

grr'fr (Materials) 4ooo fu-TI, qfr fuil. zs +zo fu,-tgfr fur,r. 2.108.

qq-s (wages) uooT#*rR',#'i* :l:ESH',#l:?.
sqRqq (overhead,)r:3,#ffi'#TH+i |;3H@#"#T:I**

700 Hrs @ R. 0.95 per Hour 720l{rs@Re 0.90 per Hour


